SHIVANI NEGI
Assignment — Web Technologies (part 1)
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1 B<htal>

L B <aead<title> CDA </title>

3 H <style>

% body{nargin: {px;padding: px;}

: #header{width:100%; height:80px; border:1px solid; text-align:ceater; Positicn:absolute;}

#Nav{width:20%; height:70%; border:Ipx solid; text-aligm:center; Position:absolute; margin-top:80px;}

1¢ fcontent{width:60%; height:70%; border:lpx solid; text-align:center; Position:absclute; margin-top:8(px; margin-left:20%;)
12 #Sidebar{width:20%; height:70%; border:lpx solid; text-align:center; Position:absolute; margin-top:80px; margin-left:80%;}
14 $Footer{width:100%; height:80px; border:1px solid; text-align:center; Position:absolute; margin-top:500px; |}

£ - <fstyle>
17 - <fhead
15 H<badp

15 <div 1d="header"> Header </div>
b <div 1d="Nav"> Nav</diw>

2 <div id="content"> Content </div>
22 <div 1d="Sidebar"> Sidebar </div>
23 <diy 1&="Footer"> Footer </div>

3 *</body>

€ =</htnl>
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L i<html>
f<head»

) <title> CCA 104: TABLE IN HTML </title>

q

5 G<head»

6 Li<body>

1 E <table border="lpx"width="100%">

) <th>Hl </th>
1 <th>H2 </th>
11 <th>83 «</th>
12 </Lr>
13 <tr >
14 <td rowspan="2"><genter> €1 </center></td>
15 <td colspan«"2'»<center>» €2 </center></td>
1& </tr>
17 G <tr>»
L& <tdr<center> C3 </center> </td>
1S <td><center> C4 </center></td>
20 </rr>
<1 «</table>
5 t</body>

<1 t</html>




